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Cuadro 20 (continuación 1)/Table 20 (continued 1)
Uruguay: tablas abreviadas de mortalidada

Uruguay: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.058 0.055  100 000  5 501  95 490 0.944 b 6 480 564 64.8
1 4 0.002 0.006  94 499   579  376 444 0.994 c 6 385 074 67.6
5 5 0.001 0.003  93 921   258  468 959 0.997 6 008 630 64.0

10 5 0.001 0.003  93 663   255  467 677 0.996 5 539 671 59.1
15 5 0.001 0.006  93 408   554  465 654 0.993 5 071 994 54.3
20 5 0.002 0.008  92 854   763  462 360 0.991 4 606 340 49.6
25 5 0.002 0.009  92 090   832  458 372 0.990 4 143 980 45.0
30 5 0.002 0.011  91 258   963  453 885 0.987 3 685 608 40.4
35 5 0.003 0.015  90 296  1 358  448 082 0.981 3 231 724 35.8
40 5 0.005 0.023  88 937  2 041  439 582 0.970 2 783 642 31.3
45 5 0.007 0.036  86 896  3 169  426 555 0.953 2 344 060 27.0
50 5 0.012 0.058  83 726  4 887  406 413 0.928 1 917 505 22.9
55 5 0.018 0.087  78 839  6 831  377 119 0.893 1 511 092 19.2
60 5 0.028 0.129  72 008  9 314  336 757 0.844 1 133 973 15.7
65 5 0.041 0.187  62 695  11 749  284 100 0.776  797 216 12.7
70 5 0.062 0.269  50 945  13 699  220 479 0.687  513 116 10.1
75 5 0.092 0.373  37 246  13 902  151 477 0.572  292 637 7.9
80 5 0.141 0.515  23 344  12 026  86 657 0.443  141 160 6.0
85 5 0.198 0.642  11 319  7 268  38 421 0.330  54 503 4.8
90 5 0.262 0.749  4 050  3 032  12 671 0.235  16 081 4.0
95 5 0.331 0.829  1 018   844  2 982 0.125 d  3 410 3.3

100 ω 0.408 1.000   174   174   428   428 2.5
Mujeres/Females

0 1 0.047 0.046  100 000  4 569  96 253 0.953 b 7 106 826 71.1
1 4 0.002 0.006  95 431   582  380 091 0.995 c 7 010 573 73.5
5 5 0.000 0.002  94 849   190  473 769 0.998 6 630 482 69.9

10 5 0.000 0.002  94 659   196  472 804 0.997 6 156 713 65.0
15 5 0.001 0.003  94 463   318  471 518 0.996 5 683 909 60.2
20 5 0.001 0.005  94 144   425  469 659 0.995 5 212 391 55.4
25 5 0.001 0.005  93 719   512  467 317 0.994 4 742 731 50.6
30 5 0.001 0.007  93 207   648  464 417 0.992 4 275 414 45.9
35 5 0.002 0.010  92 559   910  460 523 0.988 3 810 997 41.2
40 5 0.003 0.014  91 650  1 309  454 976 0.983 3 350 474 36.6
45 5 0.004 0.021  90 341  1 855  447 068 0.974 2 895 498 32.1
50 5 0.006 0.031  88 486  2 721  435 627 0.961 2 448 431 27.7
55 5 0.010 0.047  85 765  4 025  418 761 0.942 2 012 804 23.5
60 5 0.015 0.070  81 740  5 742  394 344 0.911 1 594 042 19.5
65 5 0.023 0.110  75 998  8 331  359 162 0.858 1 199 698 15.8
70 5 0.039 0.178  67 667  12 043  308 226 0.781  840 537 12.4
75 5 0.062 0.269  55 624  14 956  240 728 0.669  532 311 9.6
80 5 0.106 0.417  40 668  16 961  160 936 0.530  291 583 7.2
85 5 0.160 0.562  23 707  13 313  85 250 0.399  130 647 5.5
90 5 0.225 0.692  10 393  7 188  33 997 0.284  45 397 4.4
95 5 0.298 0.793  3 205  2 543  9 669 0.152 d  11 400 3.6

100 ω 0.382 1.000   662   662  1 732  1 732 2.6

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


